
Clutch Pump

Crank

Tensioner

Idler 1

Idler 2

08/23/2011



23

17
11

21 1

20
12

19 13

2

184

315

6

9

22

85

16

10

7
11

14
13

14

6

08/23/2011

CMKE12-3000-P8-AC
2012-CURRENT
MITSUBISHI FE,FG, CANTER
3.0L DIESEL
W-WO/AC

IDLER 1

IDLER 2

BRACKET MOUNT
LOCATIONS (6) SPOTS

ITEM NO. PART NUMBER QTY.
1 MMP-301 1
2 CLUTCH PUMP 1
3 MMB 301 13/32" Hole 1
4 MMB 302  11/32 Hole 1
5 MPC-308 1
6 89016 2
7 Hex bolt M10 x 1.5 x 80 1
8 Hex bolt M10 x 1.5 x 50 1
9 Hex bolt M8 x 1.25 x 50 1

6
2
2
4
4
1
6
1
2
2
2
2
1
1

10 Hex bolt M6 x 1.0 x 45 
11 Hex bolt M8 x 1.25 x 40 
12 Hex bolt M12 x 1.25 x 65 
13 Hex bolt 3/8"-16x1
14 3/8" LW
15 8 mm, FW
16 6mm LW
17 89200B-8
18 Hex Bolt M10 x 1.25 x 35 
19 10mm LW
20 12mm LW
21 8mm LW
22 3/8" FW
23 FSK 3.0
24 BELT # 5080740, NOT

SHOWN


	Sheet2
	Sheet3
	Drawing View2




